
 

 

Question 1 

 

i) There are many different correct answers to this question. Two 

possible versions of the function would be for example: 

 

 
 

 and 

 

 
 

(each correct version will be awarded 6 marks) 

 

ii) The questions can be best answered if we try to express this 

function in a form similar to the function of question i). If we call the 

function g(x) then we have 

 
Therefore the answers to the three questions are: 

 

(a) The function is positive for x > 2 and 1 ≤ x ≤ 2 and -1 < x ≤ 1 

(that is for x > -1) 

(b) Since 1 is a positive number, the region where the function is 

greater than 1 must be somewhere in the region of question (b). 

If we look at the definition of the function we see that for x ≥ 1 

the function is always greater than 1, except at x=1 where it is 

exactly 1. Therefore the answer would be x>1.  

(c) The function takes the value -8 exactly at x = -8 and at x=-2. 

 

(5 marks for (a), 5 marks for (b) and 3 marks for (c)) 



 

Question 2 

 

 
 

(8 marks for correct SELECT CASE structure, 4 marks for correct 

variable type defintions, 8 marks for correct hlookup functions) 

 

=trig(Pi()/3)  0.046874993 (5 marks) 

 
Question 3 

 

 
 

(14 marks for correct IF structures, 6 marks for correct variable type 

definitions, 5 marks for using correct time function) 

 

 

 



 

Question 4 

 

 
 

(8 marks for correct IF structures, 4 marks for correct variable type 

definitions, 8 marks for correct VLOOKUP functions) 

 

=salary(“N.Slavnov”)  23460   (5 marks) 

 


